Seat No.

GANPAT UNIVERSITY
B.Tech.Sem.IIl ( CE/IT) CBCS Regular Exam. Dec. — 2013
Sub : (2IT305/2CE305) — Probability & Statistics

Time : 3 hrs Fotal :
Instruction: (1) All questions are compulsory.
(2) Write answer of each section in separate answer books
(3) Figures to the right indicate marks of questions P
Section - |
Quel (12)
(A) Calculate the Probable error from the following series gf m ured by 10

students in a class test in subjects Mathematics and Statis

Marks in Maths | 45 | 70 | 65 | 30 40# 75 | 85 | 60
MarksinStat. | 35 | 90 | 70 | 40 80 | 80 | 50

(B) Calculate the Spearman’s Rank Correlation c nt between marks in Physics

and marks in Mathematics from fo]lowing
Physiess |- 35 123
Maths 3033

12 4 34

Quel & (2]

(A) Define the Probability i M ion of Normal distribution and State it's
Properties .

(B) Prove that the Arithmet
Correlation co — effigi

e Regression co — efficient is greater than the

QueZ

(A) The Systolic 4nd lic blood pressure (mm hg) for eight patient in a hospital (05)
were as under. gression equations between them. Also estimate the
Diastolic blood pr e of a patient when his Systolic blood pressure is 140.

icBPgp | 135|148 | 145 | 138 | 142 | 150 | 152 | 144
P 89.0~91 [-86..| 88 [+85,.83].93 .85

(B) The proba tIndia wins a cricket test match against Pakistan is given to be 1/3. (06)
Ifl Pakistan play 3 test match, What is the probability that

i lose all the three test match and

ja will win at least three test match

OR
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Que2 9
(A) Given the following data: (05)

X LY
Arithmetic mean 36 85
Standard deviation | 11 3 & \
?

Correlation co — efficient between xand y = 0.66.
(1) Find two Regression equation and
(2) Estimate the value of xwhen y = 75.

(B) Assume that on the average one telephone number out of 15 ca een 2 p.m.and .(06)

3 p.m. on weekdays is busy. What is the probability th omly selected
telephone numbers are called
(1) Not more than Five will be busy and

(2) Atleast Five of them will be busy.
L 4
Que3 (12)

(A) If 5% of the electric bulbs manufactured any are defective. Use Poisson
distribution to find the probability that samaple of 100 bulbs :

(1) None is defective ;
(2) 5 Bulbs will be defective an
(3) Not more than three will be defagtive

(B) The average monthly sales 4 re normally distributed with mean Rs. 36000

(2) The percenta ' les between Rs. 38 500 and Rs. 41,000.
(3) The number of fi es between Rs. 30,000 and Rs. 40,000.

Section — Il
Que: 4 &
(A) Discuss the variou\ assification of data. [4]
(B) In a certain examination, te average grade of all students in class A is 68.4 & that of [4]
all students i s B i)71.2 If the average of both combined class is 70, find the
ration of the num f the students in class A to the number in class B.
(C) an for Discrete frequency distribution & find it for given data. 4]
40 | 50
|55 5
OR
Que:
(A) hé&following terms with examples. [4]

(1

es and its types. (2) Class bounderies & class intervals
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Define Harmonic mean for Discrete frequency distribution & find it for given data. [4]
% 1015 B 28T
TR e S

(") The average of weight of a group of 25 boys was calculated to be 78.4 kg. It was 4]
later discovered that one value misread as 69 instead of the correct value 964find
correct average.

Que: 5 &
(A) Calculate Q4 , Q;, D, and Py for the following information. [6]
Class {0—10|10—20 | 20-30|30-40 | 40—-50| 50-6 70 — 80
fi 2 18 30 45 35 2 3
(B)  For given incomplete frequency distribution is given as follows. Give [5]
and N = 229 Determine the missing frequencies.
Class | 10—20 | 20—30 | 30—40 | 40-50 70 — 80
fi 12 30 /g 65 18
OR
Que: 5
(A)  Write a shornote on a different types of Partitio ues. [5]
(B)  Find Mode by Using both methods(b Swethod of grouping) 16]
Class 0—-7 | 7—14 | 144921 Q@ 28 =851 13542 | 42— 49
f; 19 25 6 51 43 28
Que: 6 Attempt any Two
(A) In usual notation derive allfhr sults for computing standard deviation. [6]
(B) Calculate semi intedgquart nge and its co — efficient for given information. [6]
Class | 0-5 \ TS5 [015- 200 20 - 787|925.—30
f; 4 8 12 7 2
© (I) Find mean devidsion a&ut median for the following data. [6]
X; 5 7 9 1 13 15 7 Tan
i 4 6 8 ) 12 8
1 1
(1) 1f = Bijr= 3 and P(ANB) = 3 then find P(A’ n B).

END OF PAPER
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Areas under standard pnormal curve.

| 2 1 2 3 4 5 6 7 8 9
0.0 1 0.0000 | 0.0040 | 0.0080 0.0120 | 0.0160 | 0.0199 | 0.0239 0.0279 | 0.0319 | 0.0359
0.110.0398 | 0.0438 | 0.0478 0.0517 | 0.0557 | 0.0596 | 0.0636 0.0675 | 0.0714

0.2 10.0793 | 0.0832 | 0.0871 0.0910 | 0.0948 | 0.0987 | 0.1026 0.1064 | 0.413040.114
0.310.11790.1217 | 0.1255 0.1293 | 0.1331 | 0.1368 0.1406 | 0.1443 | 0.14 Wal7
0.410.1554 | 0.1591 | 0.1628 0.1664 1 0.1700 | 0.1736 | 0.1772 0.1808 | 0.184 8
0.510.191510.1950 | 0.1985 02019 | 0.2054 | 0.2088 | 0.2123 02157 1 0.2190 | 0.2224
0.6 102258 | 0.2291 | 0.2324 02357 | 0.2389 | 0.2422 | 0.2454 024868 0.25 2549
0.7 10.2580 | 0.2612 | 0.2642 02673 | 0.2704 | 0.2734 | 0.2764 0.2794%.0.2823 | 0.2852
0.810.2881 [0.2910 | 0.2939 02967 | 0.2696 | 0.3023 | 0.3051 | 3706 | 0.3133
0.9103159]0.3186 | 0.3212 03238 | 0.3264 | 0.3289 | 0.3315 | &3 3365 | 0.3389
1.0 103413 10.3438 | 0.3461 0.3485 | 0.3508 | 0.3531 | 0.3554 | U. 77403599 | 0.3621
1.1 0.3643 | 03665 | 0.3686 10.3708 | 0.3729 0.3749 701 0.3 0.3810 | 0.3830
1.2 | 0.3849 [ 0.3869 | 0.3888 10.3907 | 0.3925 | 0.3944 | 0 0.3980 | 0.3997 | 0.4015
1.3 | 0.4032 | 0.4049 | 0.4066 10.4082 | 0.4099 04115 34147 | 0.4162 | 0.4177
1.4 0.41920.4207 | 0.4222 0.4236 | 0.4251 | 0.426 0.4292 | 0.4306 | 0.4319
1.5 | 0.4332 [ 0.4345 | 0.4357 04370 | 0.4382 | 0439440 4 10.4418 | 0.4429 0.4441
1.6 | 0.4452 | 0.4463 | 0.4474 0.4484 | 0.4495 515 | 0.4525 | 0.4535 | 04545
1.7]0.4554 1 0.4564 04573 | 0.4582 | 0.4591 599 4608 | 0.4616 | 0.4625 | 0.4633
1.8 1 0.4641 | 0.4649 | 0.4656 0.4664 | 0.46 ) 04686 | 0.4693 | 0.4699 | 0.4706
1.9 10.4713]0.4719 | 0.4726 0.4732 38 | OW744 | 0.4750 | 0.4756 | 0.4761 0.4767
50104772 | 0.4778 | 0.4783 | 0.47 . 0798 | 0.4803 | 0.4808 | 0.4812 | 0.4818
2.110.4821 | 0.4826 | 0.4830 | 0 300 4842 | 0.4846 | 0.4850 | 0.4854 0.4857
3.2 | 0.4861 | 0.4864 | 0.4868 4 0.4878 | 0.4881 | 0.4884 | 0.4887 10.4890
23| 0.4893 | 0.4896 | 0.4898 | 0. 0A904 | 0.4906 | 0.4909 0.4911 | 0.4913 | 0.4916
3.4 104918 | 0.4920 | 0.4922 7500,4927 | 0.4929 | 0.4931 0.4932 [ 0.4934 | 0.4936 |
2.5 0.4938 | 0.4940 | 0.4941§0.4 0.4945 | 0.4946 | 0.4948 | 0.4949 | 0.4951 1 0.4952
2.6 | 0.4953 | 0.4955 | O 4957 | 0.4959 0.4960 | 0.4961 | 0.4962 0.4963 | 0.4964
2.7 0.4965!0.4966 0 208, 0 4968 | 0.4969 | 0.4970 | 0.4971 0.4972 | 0.4973 | 0.4974
5.8 104974 1 0.4975 | 0.4976 | OMIT7 0.4977 0.497sk0.4979 0.4979 | 0.4980 | 0.4981
2.9 0.4981 | 0.498 4982400.4983 0.4984 | 0.4984 | 0.4985 0.4985 | 0.4986 | 0.4986
3.0 | 0.4087 | 0.4987 | 04987 | 0.4988 0.4988 | 0.4989 | 0.49894 70,4989 | 0.4990 | 0.4990
3.1 | 0.4990 | 0,49 011 0.4991 | 0.4992 | 0.4992 | 0.4992 0.4992 | 0.4993 | 0.4993
3.2 | 0.4993 0. 71004 | 0.4994 | 0.4994 | 0.4994 | 0.4994 0.4995 | 0.4995 | 0.4995

3.3 | 0.4990.4995%0.4995 0.4996,04996'0.4996 04996 | 0.4996 | 0.4996 | 0.4997 |
3.40. 70,4997 | 0.4997 | 0.4997 | 0.4997 | 0.4997 0.4997 | 0.4997 | 0.4998

3.5 | Q4998 4998 | 0.4998 0.4998 | 0.4998 0.499@@98 0.4998 | 0.4998 | 0.4998
3.6 | 04098 104808 | 0.4999 | 0.4999 0.4999 | 0.4999 | 0.4999 | 0.4999 | 0.4999 0.4999 |
3’7104 99 | 0.4999 | 0.4999 | 0.4999 10.4999 | 0.4999 0.4999 | 0.4999 | 0.4999
3.8 | 0.4999 | 0.4999 | 0.4999 0.4999 | 0.4999 0.4999 | 0.4999 0.4999 | 0.4999 | 0.4999
3.9 0.5000 | 0.5000 | 0.5000 | 0.5000 0.5000‘_0.500010.500?\ o.soooio.soooio.moj
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